Hemchandracharya North Gujarat University PHD Exam

Exam Name : HNGU_PHD_Economics_30.01.2024 03.00 PM TO 05:00 PM
Exam Date : 2024-01-30

Exam Time : 03:00:00 PM To 05:00:00 PM

Total Marks : 100

Note : The correct answer is indicated by the green color. ALl
¥cllol Glal 31 GlRL yUddIHi w1 8.

Question List:

Section: Section-A

e What is the use of research in the social sciences? - Q{-?ntlclﬂ'n%ll‘-llﬁf&[aSlldH'lG\RﬂDle@? [1

Mark |

Social control - Hl‘-llf;szsb-l§%l
Social harmony - IHL[SAH AL
Social welfare - 4 IHL[¥SSERUIQ
All of the above -GUAScdHIH

e What is classified information? Classified Information: (1) Yes (2) No - (1A AN q:’ﬂ,‘gd Hiledl
Fadl usiedl 82 adilsd Hilédl: (1) sl (2) oll [1 Mark |

Binary-nominal -o{Fet3]-oll a1
Binary-ordinal - SR RN BT
Ratio measurement - QN4 [Uel
Interval measurement - ¥{cAGAH [Ue]

e Secondary data includes which of the following sources-2118L HI(&cd Ui o{lAct il sl Wciloil
ML el 8 [ 1 Mark |

NSSO Report - NSSO RU1e

Statistical Profile of Gujarat government - J%2Ld 251251l A {5SISIA WUINL
Group discussion - ¥ YL

above all - (1¥1% GURsil

e What is research design? - 2l (SHIYel Q:I, 82 [ 1 Mark |

A theory-based approach to research - delldel AL UL ﬁitf,.ld 1 Rd W (HIAM
Choosing to use qualitative or quantitative methods -2[QLLcHS W] ALALH S U, REAE
GU1L s lef URe 5]

How you present your research results, e.g. graph. - A3 dH 121 A2lltel URRLH) 3d] ld
% 520 9\, el.d. ALS.

A framework for each stage of data collection and analysis - HL[&d] dAus wa
([ArdNIell 35 dULsSL HIe] HIY]




What type of measurement is the respondent's height? - Grireldlell QLY sul Ll!sl?.t’i UIYel 82 [
1 Mark |

Nominal Scale - «ll(He1d 356
Ordinal Scale - W1(Seld 3¢l
Ratio Scale - QIR ¥4
Interval Scale - ¥id2ld ¥4

A problem solver and a researcher are alike-- AAHY| Gldoll ¥ial 22NUS HHlel B-- [ 1 Mark |

» In action research-(Sdlcsi20teUi
» In applied research- IAE 2L YAH]
= In basic research - HN®dAQllt14]

» In Survey Research - Udeiielys

Useful when gata collection tasks need to be completed immediately - Hiledl vs-lsw1 sidla
dlestEs Yui scllefl e Sl AR GUALL 8.... [ 1 Mark |

Planned sampling - 21-1°6°1l0~lid_,°1LL°1 il
Snow-ball sampling -2il-deiysi U £]
Cluster Sampling - HW [e1}el Uil

= Convenience sampling - 21~l°1§01011-1\°1l1-l%i&3n

Which of the following research methods can be called qualitative research? - oAt 1Hie]l $6
A2Altet Ueglda o iiais il 581 ASIU? [ 1 Mark |

Case study - U [Scddld WAL

Historical research method - ¥ [dl&l S el QiQ[&

s Experimental research method - ULALGLS dLnlust Ui.(}[?l
= Content analysis method - [ANYdq, (A1RANGl Ueg(d

Which of the following is a criterion for a good scale? -11R1 HlUel UI2 olAstiuiell sUL HIUES B?
[ 1 Mark |

= Reliability - (A ¥eflUdl

= Validity - 514&42dl

= Approaches - (614

= All of these - 211Ud 6{Y|°

Data collected from published reports are identified as: - ust2id weaidluiel YslEHd saui
wAGHL[Ed] 241 A vldLni 211 D: [ 1 Mark |

= Organized information - dU(6d Hlledl
= independent information - ¥cld{ Hifsdl
= Secondary information - Jan Hiledl
» Basic information - HU1¢{d yifsdl

What type of data is collected through the questionnaire? - WENCLC| Sll sul UslReil
HiledlaAs[Ed saALMi 241D 8?2 [ 1 Mark |

= periodical series - AIHIRISAR]]

= Cross-sectional data-sl(deil{luuLledl
= Panel data - UetqHL[&d]

= All of the above - GUASAdHIH

The schedule is used as ... - 215?{51 d3 GuYldL Al 8. [ 1 Mark |

» Questionnaire - Y%l la]
= Tool - AlYsl

= method - I-lig(a

= technique - 25(sis



Questionnaire is filled by..... - slail &mu%uqc{l A WA 8 [ 1 Mark |

= Respondent - Gti&Lell

= Everybody - £35 IR1

= Enumerator - J8ld3]512

= None of the above - G‘-R:[Esdl-l'leﬂ 516 sl

Which of the following is a discrete variable? - LR ETRIT S?LI', BAdd U4 82 [ 1 Mark |

= Age-GHR

= Nationality - 2A¥1Udl
= Test score - 222 3512

» Income - ¥l95

Which of the following sampling method is probability based method? - o{lAst1uiell 5¢ (sie.2lol
Ueg(d Aetldetl 2tLRd uggld 82 [ 1 Mark |

= Decision - (<[}

Quota -sdlel

Simple random -¥U1 Y&E9
Convenience - {Lﬁt{l

What is it called if a true hypothesis test is rejected? -

eflulRaitiM ddA IR s Lol Ul g lotl <5 1R s IH A LA dldA QisScirinIdB? [ 1
Mark |

Null Hypothesis - [s12158{l4s{l2IUR sl
Statistical Hypothesis - #5515l UR5&Us1l
Simple Hypothesis-4201 URS&ql|

= Composite Hypothesis - H{{&d URseysil

The difference between a statistic and the parameter is called: - ViSSL el UG A« d{leIda
$&dIHi 211d 8: [ 1 Mark |

Non-random - [(4e1-4 €269
Sampling error - (;1&2{01(‘1&1
probability - ¥l lcleil
random- 4 &9

The objective of citation style manuals is - 441l (citation) 2isdlefl eledil G{Ql@ -[ 1 Mark |

Contribution of own intellectual work - Uldleil &d] [E(,Es 3[2[01 N

Sampling error - ¥{o¥lall 6{l[egs sle] AL lel

Contribution of corporate intellectual outcomes - sIRe ol [;.QS Hﬁ'%lll-nf’i AL
All of these - GURell dHIH

A Type I error occurs when we: - YRLHUS[ReI1E 1N U IRAADRUIR: [ 1 Mark |

= Reject a false null hypothesis - WIZL(42 15 AU R s@Ust ol 2] 51224 1Y

= Reject a true null hypothesis - 1141 [1215QNAUR st Il 21 512211U

= Do not reject a false null hypothesis - WLZ1(1215Q{14U R s6Ust |12l 512 5211 E]
= Do not reject a true null hypothesis - A1 [AA215Q{1AUR s |32 51254 14¢]

Which of the fo‘!lowing is not a non-probability based sampling? - ofl Aot M el S?i oflel-2ieldell
W HLRA [c1e20et oi2il? [ 1 Mark |

= Convenience sampling - %;L[E{t{l (ce.2lst

Quota sampling - sdlel(s1eelt

Snow-ball sampling - wil-oild [oeela

Stratified random sampling - 2ddild Yer [sie.20ol

A member of the population is called - AU RN CUASSA W IAD [ 1 Mark |



Element - Y154
Data- HL(&dl
the family-§S™
group-gU

Probability sampling is also known as - @lldellAMIUIRd[EAA  dIBURRDAOWIAD: [ 1
Mark |

Bi-variate analysis —[&— (G131 (Bi-variate) RN
Multiple choices - CERIETA )|

Random sampling - &9 [1€2(st 1-[&(,((:1

None of these - ¥11Mieil ¥suBleifs

A short-dissertation (thesis) contains tables and figures in : - asqg-(«?tuiuui(@ﬁm)
slesluavs(duil vi2uMa8: [ 1 Mark |

= The Appendix - uRle

» A separate chapter A SIS

» The concluding chapter - AHIUAUSL
= None of these - 4H{&{lA5URIeA (&

An example of probability sampling is - %i("llqclR‘llﬂlﬁdﬁi&%iﬂdl@&lé%‘%l@ [ 1 Mark |

= Quota sampling -5dll2| (%seeil)[s1£.2lt

» Judgemental sampling - (Qlus (°b'°b'ﬂ°‘8) [e.2lt
= Purposive sampling - @(\‘L—&Q[[&&Q[ﬂ

Lottery method xﬂaﬂuag[&

In research methodology, interpretation is the search for: - E-i%ﬂ*-ld‘-ltc}ﬁl‘-li, wejg2aul2Nud: [1
Mark |

Research Problem - 2Utel AHRUL
Statistical Data -4[55L514 HI[&d
Research Findings - 20l dlrall
Research plan 4R1ltel Yoe|

The most popular categorization of data available for research is i2lluet i Guaoy leéd'lﬂﬂ
el clsUy adilsel 8 [ 1 Mark |

= Primary; secondary - Lll?-lﬁ-l!s; Nl

= Company; government -S‘-l°ﬂ; SR

= Published; unpublished -UsL(2ld; AHusL(2ld
= [Internal; external - Nldﬁ.&; ORl

In Social Science, the relationship between cause and effect is - ALHL[ws ElSllcl‘-l.l, 51231 ¥
VAR Al 2oit & [ 1 Mark |

Deterministic - F‘lQl&L‘s

Random - 4&:8&9

Probabilistic - ei(cd

None of the above is true.- GULSsdH il S1¢5 13 «teil.

Possible results obtained in a two-way simultaneous tossing theorem. - ARIFIRAERI D]
Golndlell WAL Ui 4 AsA URBLIM..... [ 1 Mark |

= 26
= 30
= 36
= 24



e A card is drawn from a pack of 52 cards. What is the probability of getting a king of a black

colour? - 52 Urllell 3214l s Ut Uit sa1Ui 3114 dld Ut s01l 219 Sldiefl 2Aeildetl 11k,
[ 1 Mark |

172
1/8
1/52
1/26

e The total of all the observations divided by the number of observations is called: - SRR LT
SAARALNIAMAG]Sello{l vl dS eiloalell B HA dq... [ 1 Mark |

= Geometric mean - {I,Qnd% HRS

» Harmonic mean - €UHS HRS

» Arithmetic mean - dHidR HtUS
= Median - He¥

Measurement of central tendency.... -3s°'§:1uqc1'2l°iHIU§.S‘3. [ 1 Mark |

= Skewness - [ANHAL
= Mode - {845
. Range—fa%dl?.
= correlation -4 &{0{Y

Which of the following is an absolute measure of dispersion? DTN S{j, HHI?.di EEANEI R
& [ 1 Mark |

= Coefficient of variation -U€sli$s

= Coefficient of dispersion UARsIALS

= Standard deviation - UHL[SLd [dydal
= Coefficient of Skewness - [ANHdlsl]l w5

Suppose if the Mean of is = 10 and the Median is = 10 then find the Mode. - YIRS Hiledledl Heas
=10 ol Heyel=10 S1A dl W &Es 2114l [ 1 Mark |

= 10
= 20
= 30
= ]2

image [ 1 Mark |

SAAUAA LY SNZAHAG AL U RM 1AL, ?
- What will be the result if the given series

is symmetrical?

Alx=M=Z
Blx>M<Z
Clx>M=Z
D|x<M<Z

oawp

e What is the full form of CPU? - CPU 01 1{@ ol Qj &2 - Computer Processing Unit [ 1 Mark |

= Computer Processing Unit - $§H{2R R ETR] ?;l,[;la
= Computer Principle Unit - 511422 [U[=1ud y[e12



= Central Processing Unit - aogq wlA R g[&a
s Control Processing Unit - SQ]C‘t ARl g[&a

Which of the following language does the computer understand? - 8.114?;',8?. oilAstiniell s¢ e11ML
AL 82 [ 1 Mark |

= Computer understands only C Language - 3-11-12;1,8?_ §5c Al MINL % UUD B

= Computer understands only Assembly Language -3]1-1211,8?. U1 WAL HINL % AHD &
= Computer understands only Binary Language - $122 §5¢l o161 MLINL % UUD ©
= Computer understands only BASIC - 811-12;1,8?_ YA A5 UHS D

Which of the following is the brain of the computer? - D ETRITEN .‘s{{ HIL%Y S]U-Ha?ﬁi 82 [1
Mark |

Central Processing Unit -aogq wWARi#dL {{[512
Memory RPN F|

Arithmetic and Logic unit - {5L(Qld s d5 AsH
Control unit - (#1228 Y[t

Which of the following is not a characteristic of a computer? - D ETRITEN 52; smgazoj, Q&ul
oieil? [ 1 Mark |

= Versatility EREICE
= Accuracy -ﬂsg,i%ﬂ

= Diligence -SlEl®Ay
s LQ

Which of the following is the smallest unit of data in a computer? -smg,ami 33[01 Alell °‘ll°i
Vs 53 2 [ 1 Mark |

= Bit-0{le

= KB

= Nibble -[elo4d
= Byte -61l€52

Which of the following unit is responsible for converting the data rec?_ived from the user into a
computer understandable format? -o{ldsiiHiel 53 WsH AUAASAL ulAe(l Anddl Sela
$122 U 2SI Adl slH2Hi 1UIdRd sdl HIZ ¥loielR B? [1 Mark |

Output Unit -+1G2YR y[12

Input Unit -&e1y2 Y[s12

Memory Unit -HH3] Y (12

Arithmetic & Logic Unit - W3I&N[ds A 412954 Y[12

Which of the following monitor looks like a television and are normally used with non-portable
computer systems? -oilAetlH el $U Hl[o122 2[Cclel Bl Tulld & 1ol ALMIoY A olloi-
WI2wd e Ried q1el GUuAlaHi Adid 82 [ 1 Mark |

= LED-¥4.¢. 5|

= LCD-A4.34l.s)

= CRT-¥lu12.2]

= Flat Panel Monitors -§82 Ueld Hl[el2d

I never miss a football match. 1 fond of it since my childhood. [ 1 Mark |
= am

= have been

= has been

[ ]

will be

“One who does not care for literature or art" Choose the one which can be substituted for the given
words/sentence. [ 1 Mark |

= Philistine



= Dictator
= Primitive
= Hypocrite

They are talking a confidential matter, so do not interrupt. [ 1 Mark |

= in

= on
= for
= over

"Cease" Choose the one which best expresses the meaning of the word: [ 1 Mark |

= Begin
= Stop
= Create
= Dull

Look at this series: 36, 34, 30, 28, 24, ... What number should come next? - %l Al ‘§2ﬁn: 36, 34,
30, 28, 24, ... WALV $YU| oitd WAL LSV ? [ 1 Mark |

22
26
23
20

CUP:LIP::BIRD:?[1Mark]

= GRASS
= FOREST
= BEAK
= BUSH

If PINK is coded as 1691411, then RED will be coded as - %1 PINK @l 1691411 di3 §13S $clIMi
v1d, dl RED S15S @2l:  [1 Mark ]

= 1963
= 1854
= 1853
= 1954

Which of the following pairs of words are differently related? oflAsiMie]l sul AvE)e(l S1S]
6L 3d Aoildd 82 [ 1 Mark |

» Kind : Cruel - £l19]: §2

= Slow : Sluggish -tﬂ:j,: Yl
= Stale : Fresh -dl{] : dl®

= Truth : Lie - i

If NOIDA is written as OPJEB, then what will be the code for DELHI? -°§l NOIDA sl OPJEB
quididi ¥1d 8, dl DELHI M12 515 2] 212 [ 1 Mark |

= EFMAK
= EFAMK
= EFMI1J
= EFMIK

Section: Section-B

A monopolist producing homogeneous product in two different plants maximizes his profits when-
%l SANRUEIR AULel drquilo] Glleel Yei-Yei 6l SRV $cdl SlU dedl oisl HesdH Al B
oRUIR- [ 1 Mark |

= MC1=MC2=AR
= MC1 <MC2
= MC1>MC2



= MC1=MC2=MR

¢ In which market a firm’s decisions of orutput and price are interdependent? TRALIEXITR N
UEletl Geuleel ol [ud 2idledl (11Ul U w1HLIRA 82 [ 1 Mark |

= Perfect competition—lLQ{ &31s1e

= Monopsony-W3lesilReil §os121211E]

= Monopolistic competition-8°12 145 &3s1e
= Oligopoly-WEUSdS 2

¢ The Second best principle is based on which assumption? -@G‘l?-l GdMdleil ﬁ-ltgid 59 HIlLL
GUR BLHULRA 82 [ 1 Mark |

Pareto optionality is attainable-U32] S¥dH Reufd civg 48 23 B.

Pareto optionality is not attainable-U22] S®dM [Relld sidd & 23 AU «ieil.
Wherever possible, competition is desirable-% | %[ 215U S1U i &31s18 5e9+{1Y B.
All of the above-GUReil Gi¥ll % €IRQIIB] UR

e image [ 1 Mark |

Yl GlotRe] SstR1aUE Hidej YL weual.
State Prof. Lerner's formula for measuring
monopoly power.
A P—Mc
P
B | AR=P
c Mc—P
F
D | P=Mc/P
= A
= B
= C
= D

e In the theory of distribution, who was the following is associated with the development of product
1ds dSURlell Riggidui Geaulest [o1: 2ol 1AL 18 Slof o1 X1S1AG B2 [ 1 Mark |

= Leon Walras -[@0)el <€l

= James Tobin -2+ 2ludlel

= Philip Wicksteed -§l6lU [d532]s
= Alfred Marshall -241€5S Hl2ld

e According to Ricardian theory of rent, rent is a- Rs1S{e1l eLLSLell ﬁ'li(_’,id VAR, GG A-[1
Mark |

Economic Surplus ENIOERNCRLN

Differential Surplus-d§lcdl w1 [d2y

Payment for the use of buildings—iS’-lR.(ﬂWll GulaL yLe QJKSC{Q[‘[
Payment for the use of land -%Hlelell GUALIL HI2 YsdL(l

e Cobb-Douglas production function has elasticity of Substitution -5104-526 14 Geuleol (AU
wAYeil Yeu Al eldl SlU B- [ 1 Mark |

= Equal to one VISH GRIWR
= Constant -{Y U1

» Infinite -Weld

= Not decided -e1551 <l 1Y



Who introduced the concept of 'group' in monopolistic competition? -SSRy Stl S s1EUL
coge]’ef] LALE 18] 9% $UL? [ 1 Mark |

Prof. Chamberlain -l Aol
Prof. Marshall -W\.H12(¢l
Mrs. Robinson y U (d Aou{lertet
Paul Sweezy Ule bl

Which one of the following pair is NOT correctly matched? flqst 1112l ¢ LS| Al d
Nnddg oiefl [ 1 Mark |

= Equation of Exchange: Marshall -(a[;tllllﬂi AHlsWL - Hlold

= Cash Balance Theory : Pigou RASS H‘?_.ld"ﬂ ﬁ'li@ld — ﬁ-l{L

» Inflationary Gap : Keynes -§2L19 1% V(Y — 300

= Accelerator-Multiplier : Hicks Analysis -9l [ddtlel II8LS : [esu ([Asdnal

Past Income hypothesis has been given by -84 5l01e{l A 1A seil URSEUSLL Slell GI21 MMM
Il 8?2 [ 1 Mark |

Keynes -584

James-Duisenberry -%R{-Sﬂaﬁdaﬂ
Modigalia -H1€l2L[c (]

Friedman - r\‘;Saﬁl

When income falls, what happens to the liquidity preference curve? SRR LAS e & AR
dRddl el dsei 2 &l 82 [ 1 Mark |

It does not shift -W¥d) el

It shifts to the right -¥HQ[l d2s WA B

It shifts to the left -SL0l d§ WA 8

= It becomes parallel to the vertical axis -Gle{| & o YHidR €lu 8

According to Keynes, transaction demand for money L can be stated as (symbols have the usual
meaning) -38edell Ud Yool [dland 12 «l1Llefl Hidl L o salicl 2As1d_ [ 1 Mark |

L=K(y)
L=1I(r)
L=K (y)*(r)
L=Y-1

If the actual unemployment rate is below the natural rate of unemployment, it would be expected

that -] G1R1%2U1ReA] dledlcs €2 GIsIlell Serdl eeil 1A S, dl A WUt v 21l
%....[1Mark]

s The rate of inflation would increase -éJllClld-l €2 Ayl

= Wages would fall -ddel €2

» The Phillips curve would shift to the right -féféll%l as sHR( dR§ qoil 29l
s The natural rate of unemployment would fall ARSI §E.Q(‘n ¢2 gl

o Inflationary Gap is a situation characterized by -é-’llq-l Y Vs c1&i(QLsdl 8: [ 1 Mark |

= Excess of Aggregate Demand over Aggregate Supply at the full employment level -ILQ{
22112 e1l el §4 Yd6L UR § Hidlell ¥[ds

= Gap between Galloping Inflation and Runaway Inflation-€lSIYA{] §3Llcll 4al £15dL
§allcll aAef wd?

= Inflation coupled with recession-Hel 18l éJIlCn

= Inflation that usually prevails in a developing country HlaydR]l @ ALy d [dsieile
Hiudd 8

« Inflation can be contained by: -§2Llcll 2Llell Gl UMl 2ASIU B: [ 1 Mark |

= Surplus budget -HAEY 482



Increase in taxation -5AUHI dHlIR)
Reduction in public expenditure-%’lé?_ WY €21Sl
All the above-GULSd dMIH

o thlt is the theme of the currently published Multidimensional Poverty Index 2023 report base on?
dduletti ustd 8Ad 033611 Ligu A1) Aol wis vSdideil (AN 2Ll U iHLRd
82 [ 1 Mark |

Iluminating Inequalities - ¥Helc 1) UsL(2ld sl

Unstacking global poverty: Data for high impact action -A (s 213 0il & sl : G
weilauioil sidalél v Hiledl

Unpacking deprivation bundles to reduce multidimensional poverty-@l@ual-ll@,ﬂq STy [A]
galsdl Hle dAddlell e uleq

Unmasking disparities by ethnicity, caste and gender—d%ﬂqdl, [l w4 (G21 &lkl

WA HeAd M) &2 Sl

According to the Human Development Report 2021-22 what is the expected life expectancy of
India? -033-3211 Hlold [As14 WSl Yosul Mlcde] AU [Eld WY 326l dNef 82 [ 1 Mark |

67.2 year -S9.R ay
68.8 year -5(.C oy
69.4 year -5¢.¥ oy
69.7 year -£¢.9 d

The book “Planning Economy for India” was written by? -“Planning Economy for India” Y«l$

518l Qv &q? [ 1 Mark |

V.K.R.V.Rao -dl. 5. 242, dl. 21d
M. Visvesvaraya Ay, [dd2aul
K. N. Rai. -5.24¢1. 213

Manmohan Singh BIE I CENES

The concept of Five year plan was introduced by : -4 A1%eileil vALE Sloil Gl21 2% SCALML
vl &dl: [ 1 Mark |

Morarji Desai -HI21R%) tALE
LalBahadurShastri -G 14 M{S|gR2UL 14
Jawaharlal Nehru -¥d1SRALH ol&>
Indira Gandhi -8 (=21 Jlitl]

Poverty Gap is : -21210il VI (id?) ¥ed: [ 1 Mark |

The difference between poverty line and actual income levels of all those living below
that line -2110{l 2uil el d il «{lA YadL dHIM ElSleil dldlds vi1dsell 2R
el dsldd

Gap between the rich and the poor AR A A3 q?.ﬂ_ai wdR

Gap between developed nations and developing nations- ([asd 2oLl wa [dsiueild 2l
qRs wid

Gap in infrastructural facilities between developed and developing nations (as(@d wa
[asiueila 20l d HIOw LS|y Y(dd U 2idR

 Who introduced the concept of “surplus value”? -Sloll GI1 ¥ [tAN Y& " of] sCUs1l 29 SAIUL
1Al &cdl? [ 1 Mark |

Karl Marx -51d 4153
Adam Smith-31SH (42l
Robinson -2 [¢4s4s
Malthus -HleY

e What is the name of the book written by J.M. Keynes? 3. 0Y, Joy Gl quidEl Ij,Qd.‘sﬂ ollH Qj
82 [ 1 Mark |

Wealth of Nation



= Political economy
= The General Theory of Employment, Interest and Money
= Economics of Money and Wealth

e According to Lewis’s model, the dual economy grows only when - alqeil H1Sd Hu¥H, [&-U{?fl’dﬂ
RUR % dil & %RUIR.... [ 1 Mark |

= The modern sector increases its output share relative to the traditional sector. - U{IHQS a4
UYL &2l dellii dell Gedlest HIAMI dulR] 52 1,

» Agricultural sector uses modern equipment. - 3[&%@1 Nl{{[;i.‘s ALl o)l UL 52 Sl

» Agricultural sector hires labor economically. - 5[1;[?:-17[ B 1[e]5 31d &M AW €Y.

. l\{llodern manufacturing sector is labor-intensive. - U{l{l,[;l.‘s Glulgsl &-l"l AH B LHLRA
Sly.

e The Harrod-Domar growth model suggests that growth is - &RAS-SIHR C{Ec} 1134 %L?-la. 8%
qleg & [1Mark]

= Directly related to savings and inversely related to the capital/output ratio. - 4 18 1)
doildd w1 YS| / Geulest QIR Alel cdd Yoiy

» Directly related to the capital/output ratio and inversely related to savings. - 1-1\5’1 / Gallgel
RN TR 41 Al Aileld 1 siUd &l i Hoiy

» Indirectly related to savings and the capital/output ratio. - UR1e d ¢Ud A 1-1\5’1 /
Gelleet QIR 11 yoiy

= Directly related to savings and the capital/output ratio. - {{Jdcl Vol 1-1\5’1 / Gellgel
131 dR ALl Al Hoiy

e Which model specifically assumes that workers don’t save and entrepreneurs don’t consume? - 8{;
U6 2uRuRl U1 8 3 815 WUd Sl oieil v1a GALL AL RS U2l Sl «12il? [ 1 Mark
]

Swan model - ¥cllel H15¢

Kaldor model - 16512 H15¢

Solow model - Y16l H15€
Robinson model - 2A[0le¥el H13d

e Early models of endogenous growth are associated with: - Aidel({d C{E(}G‘ll LI K
H13dl 18 Uoiftd 8. [ 1 Mark |

Harrod and Domar - €1S %4 SIHR
Solow and Swan - ¥14] ¥ 2<l|sl

Lucas and Romer - RS ol JAUR
Mundell and Fleming - 4o3€ 3l sa (4ol

e The ‘Big push’ strategy of development was first advocated by - “YOG{U1-UY [ (2[[31‘[2[[01'1 Uyld)”
([As1M sl leil [SHIAA H) UaH $ &l [ 1 Mark |

= Rosenstein Rodan - 21982218l 2ASlel
= Simon Kuznets - UL&Hel 5124

= W.A.Lewis - SH®], 3. @cly

» A.O.Harschman -3, 31 ébil-ld

o Gresham's law states that - A2L1Heil (11 %L & F [ 1 Mark |

The value of money varies inversely with price level - <1lQlie] Y&} HlAHULEledl i
UHIRIHI Wedly 8.

The value of money varies directly with price level - s11Qlis] 4& #ld}Ul2lsil Alul
UHIQH] Gledld 8

Bad money drives out good money - W106{ dl'{i,, ARL <IBLLA sisl s12 8.

Good money drives out bad money - A1 o1&, WG «113LA sisl sle 9.

¢ Which one of the following pairs is correctly matched? - «{lquiel 58 1Sl URQl B2 [ 1 Mark |

= MFA : Agricultural Free Trade - MFA — 5[& H5d QuIR



= UNCTAD : free Trade Area - UNCTAD : {51 QUIR [ddR
s IMF : Balance of Payments Difficulties - IMF : Aeeaisil <1C1l°ﬂ Hﬁ?s('n
= MFN : Direct Foreign Investment - MFN : [d2.2{] Uciel 4slR1s18l

e Which of the following items were responsible for most of the increase in international liquidity
since World War 117 - [&dld [cad Yegell «ilAsiimiell $6 dd WidRA¥IY dAdIUi auiRl
$AIH BAIWELR B2 [ 1 Mark |

Gold - YLl

Dollar - SI&

Other convertible currencies - 3o ¥UidQ{1A UGS
Special Drawing Rights - ([al® Guls essl

o Budgetary deficit does NOT take into account - B2 Wiy o v oM Al «tefl [ 1 Mark |

= Revenue deficit - Héﬁc‘ﬂ Uiy

= Capital budget deficit - HSl-04982 Wl

= Capital budget deficit - ARIELe{l WY

= Interest payment on public debt - &2 2 lell e+l Ysdll

e The concept of Zero-Based-Budget (ZBB) was given by - 2|e¥l LR v1%82 «il vlId
B & [ 1 Mark |

= R.A.Musgrave - ¥{[2. 3. H¥yd
Peter A. Pyhr - {l22 3. Ul&R
J.M.Keynes - %, WY, FeS
A.H.Hansen - 3. 2, &oo]

e Arrange the following in chronological order.—-o{|qoilal SlNSHI 1R dllsedl. (A) Factor
Endowment Theory - 14l [Ayddistl Riegid
(B) Factor Intensity Reversal Theory ---- *ltlel UYcll URddeteil ﬁ-lig'ld
(C) Factor Price equality Theory --- ¥lltel Mld AHloldlell ﬁ'ligld
(D) Comparative Advantage Theory - €ellcdS dleiail ﬁiigid [ 1 Mark |
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e Suppose Countries X and Y use only labour as an input and produce only cloth and pulses. In X, a
worker in a day could produce 4 units of cloth or 8 units of pulses. In Y, a worker in a day could

produce 6 units of cloth or 18 units of pulses. Which of the following statements is false? - Yl 3 X
el Y 120l Uit Siell Altel dd GUULIL 52 O e detlel Ui 51US e 561019] Gellsol 52
8. X LML WS sIHLRA s [eduUi 4 VSH S1US vUd] 8 WsH §61019] Galleel 53 A3 .
UL Y LAHI US SIHER Vs (AU 6 VSH S1US Vol 18 WSH 561U1of Glleel 52 23 8. vl
Aeelui ollAatiniell 53 [Aulet vilg 82 [ 1 Mark |

Country X has a comparative advantage in cloth. - X 221 SUISHI ddellcHs |l y21d 8.
Country Y has a comparative advantage in cloth. - Y £2L SULSHi dClellcds dlM y1d
2

Country Y has an absolute advantage in cloth. - Y £.21 SUISHI [:'R_Q&l qle Yld 8.
Country Y has an absolute advantage in pulses - Y 22l $5610H| (1081 @161 yR1d 8.

e The Agreement on the application of Sanitary and Phytosanitary (SPS) Measures concerns -
Ale123] 214 s1u21A[123](SPS) oil 12%) Uil S22 sUL WILdial tAleiHi A 82 [ 1 Mark |

= The application of food safety and animal and plant health regulations. - W&l ¥8&l
Bl UIRI el et (d 241219Y [cAyHleil GulL

» The application of chemicals and fertilizers on plant and soil. - 1S wal gl U 4 1UBI
uel WildRlell GUlal

= The application of modern irrigation techniques on fertile land. - $U1g4 sl U2 2*{[’:;],[:15
[RULE dseilslel Gualal



= The application of chemicals that affect animal health via magnification - [Elkicﬂfs?_'gl &kl
ULR{lle1l 2elie R Sl UGN GUlaL

. Stolper-SaIE_Iuelson theorem describes the relation between - ¥21GUR- a‘-{l,c’%lﬂ‘l Ul sleil qell
vite] ABiel 52 82 [ 1 Mark |

= Relative prices of output and changes in endowments - 4 ltle] AHAL yoiltd A (SHA
Wl [Ayddlii 5812

= Relative prices of output and relative factor rewards - ¥i1tel AU Aoilad A
(51 vial AN Altolell dIM

= Absolute prices of output and changes in endowments - ¥l AHA A i e %{H\Q[
(5UA] Wal ([Qyadini 5812

= Absolute prices of output and relative factor rewards - ¥ 1tel AHALA] oiftd %'N\Q{ (54l
Wl ([Qyddleil 41™

¢ Wheat could be stated as labour intensive commodity when - 12 G YU Uy dd dal
5813 RUR [ 1 Mark |

= Elasticity of substitution of labour for capital is much greater in the production of

wheat - 1 Gell Gallesiti YS| HI2 HUeAl WAUi Retldeliusdl 4l aui 8
» Elasticity of substitution of capital for labour is much greater in the production of wheat. -

eGetl Geulesiti siu I YSlell AU Ra(dellusdl 8l ddR 8 .

» Elasticity of substitution of labour for capital is lower in production of wheat. - e4Gell
Geulesti Y3l Hi2 siHeil wdHI Rei(deilusdl 2116l elu 8 _

= Elasticity of substitution of capital for labour is constant in production of wheat. - €Gell
GauleetHi AU UL Holell WARHi Retldauusdl Udd & &

Haberler’s opportunity cost is explained in terms of - 2016 2ell As5(CUSs W 2lell 43 HHAAIMI
1] B2 [ 1 Mark |

Market Demand Curve - W12 H[dl d$
Market Supply Curve - {12 Ydél d$
Substitution Curve - U{a.@ qas
Consumption Curve - dYz2[2l d$§

In India, the current (2023-24) government determines the MSP for how many crops. - M1cHl
SLE (2023-24) ARSI 326l ULS HI2 MSP 1551 2 8 [ 1 Mark |

22
23
24
25

Who announced the launch of National Agricultural Development Plan ? - ug’lu {sﬁl ([asiy
A\%ell 2 Scloil MEUd S 522 [ 1 Mark |

= Narendra Modi

= Dr. Manmohan Singh
= Atal Bihari Vajpayee
= [. K. Gujral

Which day is celebrated as Kisan Day in India? -MIRAML sUL [ead [slel [ead d3 Gwadimi
1d 82 [ 1 Mark |

July 7th -9 {1 %18

23th December -3 Hl SIAM{R
R ALY

q ] sy 13]

Who has decided millennium development goals? sl [asiy deuisl sl «1ssl sul 82 [1

Mark |

= General Meeting of United Nations -‘H‘;l,&d 2[2.-1"’1'1 AHlHIY HEGil
= Parliament of India -812ce{l AA¢



= World Bank -[cl& W§
= NITI Ayog -(NITI) «il(c 241321

The pioneering work on National Incomerin India was undertaken by whom? -®{[2cHi ug’lu
WLAS U WIAUR S1AU Sloll GlRL &l UY &q? [ 1 Mark |

= P C Mahalnobis -Ul. . Helgsil(c1y

» Dr. Manmohan Singh -S\. Het{lsel Rigl

= Dr. Jagdish Bhagwati -S\. 9l€121 #ldd]
= Dr. V.K.R.V.Rao -SL. dl. . 312 dl. 214

In Which Year was the First Demonetisation in India? - 1241 eﬁ uey sll2oit] syl qb{‘-li LJES)
&cil? [ 1 Mark |

" 1944 - ¥y
= 2016 - R01%
s 1978 -1€9C¢
= 1946 - 1€¥%

Who recommended the establishment of RRB ((Regional Rural Bank)? - RRB (Regional Rural
Bank)eil 2e11Ustl Hi2ell MdiHL $161 53 &dl? [ 1 Mark |

= Rao Committee - 21l U [Hdl

» Damodaran Committee - £1H1&31 A [Hcll

= Nachiket Mor Committee - <1 [RI3d {12 A d]
= Narshinhm Committee-oi [RieH A Ml

Which of the following rates is the shortest term rate? - o{lA w109 eHiell sul &2 AHleil
2512110 lell €2 82 [ 1 Mark |

= SLR
= BR

= CRR
= MSF

Economic Survey is Published by - ¥{1(2[s 4 usL(2Ad 52 D [ 1 Mark |

= Ministry of Finance - sl1QLi {aAL€Y

= NITI Aayog - NITI 41412l

s Government of India - Hl2d d51R

» Indian Statistical Institute - ML12cld W isSISIA Aell

India’s Wage Policy is Based on____ - ®lLclell Adetoilld WIHLRA & [ 1 Mark |

= Standard of Living - ®)del t28

= living expenses - ?.éCJ.l{'L w3

» Industrial productivity - 3018012{ls Geulesdl
= Agricultural Productivity - 5[& Gaulesdl

Office of AGMARK is located at/in ? - AGMARKGeil 1[5 Ui 2416 82 [ 1 Mark |

= Mumbai - {8

= Delhi -(€&S]

= Faridabad - {s?]i.lo{li.
= Udaypur - GeYY2

Who announced the introduction of National Food Security Act? - ug’lu U{LEL YRéll N CIEL
dlddleil néud S18l 5212 [ 1 Mark |

= Pranab Mukherjee - U3ld J;I,'U{%T
= P.Chidambaram - \l. Q110424

= Manmohan Singh - el Hl&el Rie
= ArunJaitley - 3128l %24l






